Annual Progress Of National Livelihood Resource Institute 2009–10 & 2010-11

Progress Report 2009–10 and 2010-11 <u>Summary on Campus Program</u>

Stakeholders	Events		Total Training Days		Participants		Training Person Days	
	2009-10	2010-11	2009-10	2010-11	2009-10	2010-11	2009-10	2010-11
Farmer's Training	30	13	78	35	1165	380	2757	932
GVT Staff Training	12	7	39	24	233	169	1006	597
Corporate Manager/Officer's Training	4	5	10	13	103	306	190	764
Training Under CINI Project	3	2	6	3	100	63	200	102
Government Officials and NGOs professionals training	17	20	42	58	482	591	1192	1662
Exposure Visit to NLRI Campus	6	4	6	8	367	182	367	266
Training and Field Orientation for Students	2	5	38	132	23	67	449	786
Other's Training & Workshop	0	7	0	26	0	198	0	695
Total	74	63	219	299	2473	1956	6161	5804

Off Campus Program

Stakeholders	Stakeholders Events Total Training days		_	ning Participants		Training person days		
	2009-10	2010-11	2009-10	2010-11	2009-10	2010-11	2009-10	2010-11
Training MPRRDA- GoMP, ATMA, NABARD, PRI, Jila Panchayat, NRAA and NVDA Project	259	231	609	433	6844	356	16443	11052
NAIP	7	0	7	0	221	0	221	0
Exposure Visit	2	0	2	0	61	0	61	0
Training and Consultancy to Corporate and Government Department	10	2	99	80	0	0	77	80
Total	278	233	717	513	7126	356	16802	11132

Grand Total

Particulars	Events		Total Days		Participants		Training person days	
	2009-10	2010-11	2009-10	2010-11	2009-10	2010-11	2009-10	2010-11
On campus	74	63	219	299	2473	1956	6161	5804
Off campus	278	233	717	513	7126	356	16802	11132
Grand Total	352	296	936	812	9599	2312	22963	16936

Farmer's Training - on Campus

S. No	Description	Duration	Events	Training Days	Participants	Training person days
1	KVK Dhar Farmers Training	3days	1	3	25	75
2	Farmers Training under ATMA project – Agriculture Dept. – Alirajpur	3days	1	3	37	111
3	Farmers training under ATMA program by GVT	2days	9	19	268	496
4	Seed Production Training for GVT- Jhabua Farmers	5days	1	5	10	50
5	Farmers Training under ATMA project – GVT- Banswara	5days	1	5	40	200
	Total	18days	13	35	380	932

GVT Staff Training - On Campus

S. No.	Description	Duration	Events	Training Days	Participants	Training person days
1	Induction workshop for new joining	5days	1	5	27	135
2	One day WADI staff training	1day	1	1	10	10
3	Seed Production Training for GVT- Jhabua Farmers	5days	1	5	10	50
4	Orientation for Communication and Presentation Skill for GVT- Jhabua Team Members	4days	1	4	16	64
5	Farmers Training under ATMA project – GVT- Banswara	5days	1	5	40	200
6	Orientation workshop for DPR under IWMP	3days	1	3	36	108
7	One day orientation workshop –IWMP under ITC workshop	1day	1	1	30	30
	Total	24days	7	24	169	597

Corporate Manager/Officer Training - On Campus

S. No.	Description	Duration	Events	Training Days	Participants	Training person days
1	KRIBHCO- HR workshop	3days	1	3	25	75
2	KRIBHCO Sahkarita Sanghosthi (Non Residential)	2days	1	2	126	252
3	KRIBHCO – MDP training for Secretary staff	2days	1	2	28	56
4	Exposure on understanding development Features for Surat KRIBHCO plant Officer	3days	1	3	17	51
5	Business Development workshop for Cooperative Society Members	3days	1	3	110	330
	Total	13days	5	13	306	764

Training Under CINI Project - On Campus

S. No.	Description	Duration	Events	Training Days	Participants	Training person days
1.	KMS partners Training cum Workshop - CINI Partner Organization	2days	1	2	39	78
2.	KMS partners Training cum Workshop	1day	1	1	24	24
	Total	3days	2	3	63	102

Government Officials and NGO's Managers training - on Campus

S. No.	Description	Duration	Events	Training Days	Participants	Training person days
1	Orientation workshop for DPR under IWMP	3days	1	3	36	108
2	One day orientation workshop –IWMP under ITC workshop	1day	1	1	30	30
3	KRIBHCO- HR workshop	3days	1	3	25	75
4	KRIBHCO Sahkarita Sanghosthi (Non Residential)	2days	1	2	126	252
5	KRIBHCO – MDP training for Secretary staff	2days	1	2	28	56
6	Exposure on understanding development Features for Surat KRIBHCO plant Officer	3days	1	3	17	51
7	Sanitation workshop for PIA team members	3days	1	3	27	81
8	Developing of horticulture under MGNREGA	7days	1	7	27	189
9	Workshop on Project officer (MGNREGA)	5days	1	5	31	155
10	RTRS workshop for MPDPIP team members	2days	1	2	12	24
11	Building Perspective for Developing Commercially Viable Business Plans for MPDPIP	3days	3	9	84	252
12	Orientation cum workshop for Producer Companies Staff –DPIP	4days	1	4	31	124
13	One day Carbon Management Center workshop (Non Residential)	1day	1	1	9	9
14	One day NABARD workshop for marketing Agriculture Producer (Non Residential)	1day	1	1	34	34
15	Workshop for developing internal control system for Organic WADI	3days	3	9	54	162

16	Workshop for Package and Practices for Developing organic WADI	1day	1	3	20	60
	Total	44days	20	58	591	1662

S. No.	Description	Duration	Events	Total Days	Participants	Person days
1.	Exposure on understanding development Features for Surat KRIBHCO plant Officer	3 days	1	3	17	51
2.	Exposure visit from Agriculture Collage – Tikamgarh	3 days	1	3	25	75
3	Exposure visit from School Girls from neighboring villages	1 day	1	1	50	50
4	Exposure visit from Delhi Public School, Ratlam	1 day	1	1	90	90
	Total	7 days	4	8	182	266

Exposure Visit to NLRI Campus

Training and Field Orientation for Students - On Campus

S. No.	Description	Duration	Events	Total Days	Participants	Person days
1	Workshop on PRA module for TERI university student – New Delhi	6 days	1	6	32	192
2	Exposure visit from Agriculture Collage – Tikamgarh	3 days	1	3	25	75
3	Field Attachment of the Agriculture Engineering Students from JNKVV, Jabalpur 5 students	90 days	1	90	5	450
4	Students from IRMA for Value Chain Study of 5 perishables in 3 districts namely Ratlam, Mandsaur and Neemuch 2 students	15 days	1	30	2	60
5	Students from NIRD to study the MPRRDA Chief Minister' Rural Housing Mission Program	3 days	1	3	3	9
	Total	117 days	5	132	67	786

Other Training & Workshop

S. No.	Description	Duration	Events	Training Days	Participants	Training person days
1	Institutional Development for KJBF Team WARDHA (MH)	4days	1	4	23	92
2	One day District Level Orientation workshop on IVDP – Micro plan (Non Residential)	1day	1	1	44	44
3	LIC Team members workshop	2days	1	2	31	62
4	Organic WADI Management for IFFDC	3days	1	3	4	12
5	IABLP workshop – SUZLON Foundation	4days	1	4	29	116
6	Workshop on Decentralize planning for Self Help Organization under Jan Abhiyan Parishad – Ratlam	5days	1	5	50	250
7	Training on Participatory planning process for LANCO	7days	1	7	17	119
	Total	26days	7	26	198	695

Training MPRRDA-GoMP, NABARD, ATMA, NVDA/WALMI and Jila Panchayat Project - Off Campus

S. No.	Description	Duration	Events	Training Days	Participants	Training person days
1.	Field Level Training Program for Key Members of WUA	2days	3	6	116	232
2.	Block Printing Training for SHG women	42days	4	168	100	4200
3.	Mason Training - cum - demonstration under CM Rural Housing Mission village Mundla Ram, Ratlam	10days	1	10	10	100
4.	Mason Training - cum - demonstration under CM Rural Housing Mission, Village Talod, Ujjain	10days	1	10	10	100
5.	Mason Training - cum - demonstration under CM Rural Housing Mission, Village Bijana, Shajapur	10days	1	10	10	100
6	Gender Sensitization Workshop at Dahod for the officials of Gujarat Forest Development Project (GFDP)	5days	2	10	45	900
7	District level Farmers Training under ATMA	1 day	4	4	30	120
8	State level Exposure Visit of Farmers	5 days	5	5	10	50
9	FFS- Farm Field School Training (ATMA)	1 day	210	210	5250	5250
	Total	79days	231	433	5581	11052

Training and Consultancy to Corporate and Government Department

S. No.	Description	Duration	Events	Participants	NLRI team Members person days
1	International Course on participatory development for senior officers from 17 Afro – Asian countries under India development Initiative organized by NIRD, Hyderabad at NIRD	5 days	1 Module delivered by Arun R Joshie	27 participants from 13 countries	5
2	NRAA Study for FRA, Watershed and NFP for 6 districts 2 each in MP, Guajart and AP	25 days	Input provided by Shree Shaktivishal Yadav in AP, Shree Yash Kanungo in MP and Shree Yogesh Gupta in Gujarat		75
	Total				

NATIONAL LIVELIHOOD RESOURCES INSTITUTE, RATLAM E-learning Progress 2009-10-11

S. No.	Batch	Period	No of students
1	Dotoh 1	02.07.07 to 04.04.09	22
	Batch - 1	02.07.07 to 01.01.08	32
2	Batch - 2	02.01.08 to 02.07.08	35
3	Batch - 3	05.08.08 to 05.02.09	8
4	Batch - 4	21.04.09 to 31.10.09	30
5	Batch - 5	15.04.10 to 15.11.10	27
6	Batch - 6	07.04.2011	5
		Total	132